HomeWork 15
Due Mondav 4 Dec
Your name: ﬂ A T W e /20

1. Provide the correct , abbreviated electron configuration for: (1 pt each)
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2. For the transition elements below, provide the correct abbreviated. d-switched
and preferred filled/half-filled/empty electronic configurations: (2 pts ea/6 pts total)
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3. Use the simple octet rule to predict the bonding and lone pairs for the molecules
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4. Predict the most likely Lewis structure for the molecules below where the octet
rule can be broken to minimize formal charge. Include all lone pairs and if present, formal
charges. (2 pts each/6 pts total)
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